Study-Knight Research Centre Himachal Pradesh
TOPIC-SPEED

1. Two buses start from a bus terminal with a speed of 20 km/h at interval of 10
minutes. What is the speed of a man coming from the opposite direction towards the
bus terminal if he meets the buses at interval of 8 minutes? aﬁaﬁw a9 ffa ¥ 10
fire & siavTa W 20 frieer &t nifa & et 81 faudia fa=m 3 a9 <fifqa
3R 3T T8 U e 1 i T § ufe 39 o 8 fe & siavTal W farerd 82
A. 3 km/h
B. 4 km/h
C.5km/h
D. 7 km/h
Answer: Option C
Solution: Let Speed of the man is x kmph.
Distance covered in 10 minutes at 20 kmph = distance covered in 8 minutes at (20 + x)
kmph.
Or,
20x=2 = 2x(20+x)
60 60
Or, 200 = 160 + 8x
Or, 8x =40
Hence, x = 5kmph.
2. Walking %of his normal speed, Rabi is 16 minutes late in reaching his office. The

usual time taken by him to cover the distance between his home and office: 3O

TTHT A | 3/4 TADR, T DI 304 HrATtad ugda # 16 e #1 ¢ gidt 81
D GRT AU TR AR FRATAT & §Hd BT gt a9 H | (o1 1 QTH1=9 999

A. 48 min.
B. 60 min.
C. 42 min.
D. 62 min.
Answer: Option A

Solution: 1st method: gof usual time = Usual time + 16 minutes;

Hence, grd of usual time = 16 minutes;

Thus, Usual time = 16 x 3 = 48 minutes.
2nd method:

When speed goes down to %th (i.e. 75%) time will go up to grd

(or 133.33%) of the original time.
Since, the extra time required is 16 minutes; it should be equated to

1;rd of the normal time.Hence, the usual time required will be 48 minutes.
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3. Two trains for Mumbai leave Delhi at 6 am and 6.45 am and travel at 100 kmph and
136 kmph respectively. How many kilometers from Delhi will the two trains be
together:

Hag & fog 31 39 feeelt T gag 6 a9 3R 6.45 To fpad & 8% shasr: 100 fopedt
ufa He 3R 136 foret ufa 5 &1 nifar & amm wwedl €1 1 e v 1y fewit @
foram fpaiies gr givh:

A. 262.4 km

B. 260 km

C. 283.33 km

D. 275 km

Answer: Option C

Solution: Difference in time of departure between two trains = 45 min. =

45 3
— hour = =hour.
60 4

Let the distance be x km from Delhi where the two trains will be together.
Time taken to cover x km with speed 136 kmph be t hour

and time taken to cover x km with speed 100 kmph (As the train take 45 mins. more) be t+ %
_4t+3

4
4t+3

Now, 100 x — 3 136t

Or, 25(4t + 3) = 136t

Or, 100t + 75 = 136t

Or, 36t =75

Or, t =2== 2.083 hours

Then, distance x km = 136 x 2.083 =283.33 km.

4. A man takes 6 hours 15 minutes in walking a distance and riding back to starting

place. He could walk both ways in 7 hours 45 minutes. The time taken by him to ride
back both ways is:

TSP ATGHT Bl TP g3l a B 3R YFSMTdl VI UR a19H 31+ ¥ 6 6 15 fire o1
Y TRIAT 2| 98 7 b 45 fiFe & 31 aR% o bl UTI Sl dRWP | 9199 31 A
3 fra=T a9y &

A. 4 hours

B. 4 hours 30 min.

C. 4 hours 45 min.

D. 5 hours

Answer: Option C

Solution:Time taken in walking both the ways = 7 hours 45 minutes -------- (1
Time taken in walking one way and riding back = 6 hours 15 minutes ----------- (i)

By the equation (i) x 2 - (i), we have,
Time taken by the man in riding both ways,
= 12 hours 30 minutes - 7 hours 45 minutes
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= 4 hours 45 minutes.
5. From two places, 60 km apart, A and B start towards each other at the same time

and meet each other after 6 hour. If A traveled With?2 of his speed and B traveled with
double of his speed, they would have met after 5 hours. The speed of A is:

60 forelt g¥ G U |, A 3R B TS &1 TG WR TH-gaR DI 3R TaT = HId &
3R 6 42 & 91G TPH-gAX A frerd €1 e A3 2% Wy aen a1 afd B ot fa @
SRHT T | I3 Har, 91 4 5 "9 916 frea 1 ABt i 8:

A. 4 km/h

B. 6 km/h

C. 10 km/h

D. 12 km/h

Answer: Option B

Solution:A — 60Km —B
Let the speed of A =x kmph and that of B =y kmph
According to the question;

XX6+yx6=060

Or,x+y=10 --------- (i)

And, Zx5+ (2yx5)=60

Or, 10x + 30y = 180

Or,x + 3y =18 ---------- (i)
3X+3y-x-3y=30-18
Or,2x =12

Hence, X = 6 kmph
Alternate Speed Time and Distance mcq solution image
~They meet after 6 hours if they walk towards each other i.e., their speed will be added.

So, their relative speed in'opposite direction="rance -89

. . ] . ! time 6
Relative speed in opposite direction :
(=)=10 km/h.....(1)

According to the question,

2A 60
>—+2B =—
3 5

>=242B=12
=A+3B=18

=B's Speed = %
=>A+B=10
=>A+?=10
=3A+18—A=30
=2A=12

=A's speed = 6 km/h
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6. A, B and C start together from the same place to walk round a circular path of length
12km. A walks at the rate of 4 km/h, B 3 km/h and C 32 km/h. They will meet together
at the starting place at the end of:

A, B 3¥ C TH IIY TH g RIM A 12 f5 il 6 TR Uy R Aa I IE A &1 A
4 fpaitreet, B 3 fpfireer ok ¢ 32 fpdirder @1 wfa & g@ar 81 3 59 sia o
SMRUP WM W TH 914 fra:

A. 10 hours

B. 12 hours

C. 15 hours

D. 24 hours

Answer: Option D

Solution: Time taken to complete the revolution:

A —>14—2: 3 hours
B —%: 4 hours

C—>12 xg: 8 hours

Required time,

=LCM of 3, 4, 8.

= 24 hours.

7. Ravi and Ajay start simultaneously from a place A towards B 60 km apart. Ravi's
speed is 4km/h less than that of Ajay. Ajay, after reaching B, turns back and meets
Ravi at a places 12 km away from B. Ravi's speed is:

T 3R Srorg TP HIY R A ¥ 60 fortil g¥ B 1 SR T0H1 7= o 7 | A oY 7ifr
3T Y T | 4 fpHi/eieT &9 B1 361, B 9 Ugd & 91, IUH HSaT g 3R B A
12 fPit R Ts A wRIA @ faa g St g:

A. 12 km/h

B. 10 km/h

C.8km/h

D. 6 km/h

Answer: Option C

Solution: Ajay — (x + 4) kmph.

A 60 km B

Ravi — x kmph.

Let the speed of Ravi be x kmph;

Hence, Ajay's speed = (x + 4) kmph;

Distance covered by Ajay =60 + 12 = 72 km;

Distance covered by Ravi = 60 - 12 = 48 km.

According to question,

72 48 3 2
—= —0or,— =-0l,
X+4 X xX+4 X
3x=2x+8 or,
x=8kmph
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8. The speed of A and B are in the ratio 3 : 4. A takes 20 minutes more than B to reach
a destination. Time in which A reach the destination?

A 3R B B 7fd 3:4 & SJUTd H 81 A DI i} 7iqed 9% uge= A B A 20 fiFe
arf‘wwﬁéla's'wﬁmﬁAmww%v

A.13hours

B. 2 hours

C. zghours

D. 1% hours
Answer : Option A
Solution :Ratio of speed =3 : 4
Ratio of time taken =4 : 3 (As Speed r:ne When distance remains constant.)
Let time taken by A and B be 4x and 3x hour respectively.
20
Then, 4x - 3x =—
1 60
Or, X :E
Hence, time taken by A = 4x
hours = 4 ><§
=1= hours.
3

9.A man covers half of his journey at 6 km/h and the remaining half at 3 km/h. His
average speed is

T 3mgHt rueit 3meht ama 6 fnefirder ot wifa & i Rw st A 3 faefteier o

T & 99 PRar g | D! 3 T 8
A. 9 km/h

B. 4.5 km/h

C. 4 km/h

D. 3 km/h

Answer: Option C

Solution:Average speed-
=4kmph

10. Two guns are fired from the same place at an interval of 6 minutes. A person
approaching the place observes that 5 minutes 52 seconds have elapsed between the

hearings of the sound of the two guns. If the velocity of the sound is 330 m/sec, the man
was approaching that place at what speed (in km/h)?

&l dgdh 6 fiFTe & SiaRTa IR U g1 I I grft o1l 8 | 39 I WX UgTH a1d Uh
aafad = ¢@T1 fh Gt dgehl B AT G4 & a9 5 fiFTe 52 Adhs 1 90y did o1

21 afe @afy &1 37 330 HiexAbs g, af safe 39 WF ot 3R fove wfa (fe+ireer
) | 3T T UT?

A. 24 kmph
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B. 27 kmph

C. 30 kmph

D. 36 kmph

Answer: Option B

Solution:Difference of time

=6 min - 5 mins. 52 secs.

= 8 secs.

Distance covered by man in 5 mins. 52 secs.
= Distance covered by sound in 8 secs.
=330 x 8 = 2640 m.

2640 2640 2640 18
=~ Speed of man = =

; m/secs=——=x— kmph=27 kmph
5min.52 secs 352 352 5

11. Running at 45 of his usual speed, an athlete improves his timing by 5 minutes. The
time he usually takes to run the same distance is:

O A A/ 2 1 | S Y, TP LU Tite 30+ T0Y | 5 e H1 YR
HA1 S | FUH gl 9 SIs H 3 STHAR TR fha-1 9Ha el &

A. 30 min.
B. 28 min.
C. 25 min.
D. 23 min.
Answer: Option C

Solution: When the athlete walks at % of his usual speed then he takes 4Eof his usual time

(AsSpeedocrrlne) and he saves 5 minutes — Usual time -%x usual time =5 minutes

1 " .
—>E>< Usual time = 5 minutes

Usual time = 25 minutes.
12. In a race of 1000m, A can beat B by 100m. In a 400m, B beats C by 40m. In a race of
500m. A will beat C by

1000 HieT B g H A, B BT 100 Hex A g1 Hbdl g1 400 HIeT H, B, C &1 40 HieX A
I edI 81500 iR BI AT H. A, C B g SM

A. 95m

B. 50m

C.45m

D. 60m

Answer: Option A

Solution: When A runs 1000m, B runs 900m.
Hence, when A runs 500m, B runs 450m.

Again, when B runs 400m, C runs 360m.

And, when B runs 450m, C runs = 360 x 1572: 405m.

Required distance = 500 - 405 = 95 meter.

That means when A runs 500 meter then B can run 450m then C runs 405m.
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13. A runs twice as fast as B and B runs thrice as fast as C. The distance covered by C
in 72 minutes, will be covered by A in:

A BI ST dolt A Sgarg ik B, CA AT A dlsdr gl CgRI 72 e d'qm
D g g3, A GRT T DY ST

A. 18 minutes

B. 24 minutes

C. 16 minutes

D. 12 minutes

Answer: Option D

Solution:Ratio of the speed of A,BandC=6:3:1
Then, ratio of time taken;

Hence, time taken by A =%

= 12 minutes.

14. A motorboat in still water travels at speed of 36 kmph. It goes 56 km upstream in 1
hour 45 minutes. The time taken by it to cover the same distance down the stream will
be:

id Ut # T Hievale 36 frHl ufa o &t nifd & Terel 81 98 1 et 45 fime o
YRT & fauia 56 fotit o1 g3t a0 Heedl 8 1 URT S ST THIH gil a9 H3 4 39
T qTet GHY g

A. 2 Hours 25 Minutes
B. 3 Hours

C. 1 Hours 24 Minutes
D. 2 Hours 21 Minutes
Answer: Option C

Solution:1 hour 45 minutes :1+:—§

7
= Zhours.

Distance _ 56km _56%x4
TimeTaken_7/4hours_ 7
Let the speed of the current = x kmph
Hence, 36 - x =32
Or, x =36 - 32 = 4 kmph
Speed of boat down the stream = 36 + 4 = 40 kmph.
=~ Time taken to cover 56 km at 40 kmph =§

=75 hours or 1 hours 24 minutes.
15. An athlete runs 200 meters race in 24 seconds. His speed in km/h is
TSP TYIe 200 Hex B s 24 bs A R Hdl 8| 9P i fpiaerd 8

A. 20

Speed of the motorboat up-stream,= =32kmph
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B. 24
C.285
D. 30
Answer: Option D
200m _200x18

Solution:Speed of athlete,= = =30km/hour
24secs 5X%X24

16. If A travels to his school from his house at the speed of 3 km/h, then he reaches the
school 5 minutes late. If he travels at the speed of 4 km/h, he reaches the school 5
minutes earlier than school time. The distance of his school from his house is:

afe A 3rvq TR § 3 fFdirder 9t 1fa | 3 o wiar 8, @ 98 5 fiFe 38 3 woa
ugTar ¢ | afe a5 4 fedirder @1 nifa & a1 owan 3, dt a8 Wpd 994 9 5 fiFe ugd
P d UEAdI 8| SUP R I IS @d B g &

A.1km
B. 2 km
C.3km
D.4 km
Answer: Option B
Solution:Let the distance between school and home be x km.
The difference of time when A goes school to school with these two different speed is 10 min
=1060hourNow,2-2=2 Or,
3 4 60
%:%Or,x:%ﬂkm
17. A man starts climbing a 11 m high wall at 5 pm. In each minute he climbs up 1 m

but slips down 50 cm. At what time will he climb the wall?

TSP SATGH! JMH 5 To 11 HieX Sl SR WR AT = Hrdl g | e e d a8 1
Hex FWR Idedl g Afp= 50 A = fvae sirar 31 98 f5a 99y SlarR i 9

A. 5:30 pm

B. 5:21 pm

C.5:25 pm

D. 5:27 pm

Answer: Option B

Solution:1st Method:

Man climbs 1m and slips down 50 cm (0.5m) in one minute

I.e. he climbs (1 - 0.5 = 0.5 m) in one minute.

But in the last minute he will be climbing 1m as he gets on the top so no slip.

Time taken to climb 11 meter :£+1

= 21 minutes.
He climbs the wall at 5:21 pm

2nd Method (short-cut):
_ hightofpole—slippeddistance

_climbeddistance—speed distance
x—z
= —xt

y—z
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11-0.5
= X
1-0.5
=21minutes
18. A monkey climbs a 60 m high pole. In first minute he climbs 6 m and slips down 3 m
in the next minute. How much time is required by it to reach the top?

TP 96 60 Hiex $Hd W WR 9 WIdT 7. Ugd fieie # 98 6 Hiex gedr g iR orrd
firre o 3 Hiex <R fvge wirar 81 i W ugeR & fore 59 fvamn gag @nfew?
A. 35 minutes

B. 33 minutes

C. 37 minutes

D. 40 minutes

Answer: Option C

Solution: Monkey climbs 6 m in 1st minute and slips down 3 m in next minute

I.e. Monkey climbs 3 meter in 2 minute then he climbs in one minute,

3
=-m.
Bﬁt in the last minute he climbs 6 m as he gets on the top so there is no slip.
Time required :ZX%+§
= 37 minutes.
19. An ant climbing up a vertical pole ascends 12 meters and slips down 5 meters in
every alternate hour. If the pole is 63 meters high how long will it take it to reach the
top?
TP Hidl TP FHeafeR TN IR Tgh g3 ga Ue # 12 Hed SR Fad! € 8w 5 diex
;ﬂﬂﬁmﬁ’-ﬂmﬁél gfe GUT 63 Hiex &1 § a1 34 M a@ ug=q # fva-n 9wa

?

A. 18 hours

B. 17 hours

C. 16 hours 35 min

D. 16 hours 40 min

Answer: Option C

Solution: Since it climbs 7 meter in every 2 hr. At the end of 14 hours it would have climbed
up to 49 mt. In 15th hour it will reach 61 mt. Then drops back to 56 mt in the 16th hour. It
will take another 35 min to travel remaining 7 mt since it will be ascending in the 17th hour.
Thus, 16 hr and 35 min.

Detail Explanation:

Given,

Ant ascends 12 meters in first hours and slips down 5 meters in second hour.

This is repeated in every alternate hour.

It means in every two hours Ant ascends (12 - 5 = 7 meters)

Therefore, in ends of 14 hours,

Ant ascends :14><§: 49 meters.
So, In next hour i.e 15 hour, Ant will ascends another 12 meter.
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Till end of 15th hour, Ant climbed = 49 + 12 = 61 meters. But in 16th hour, Ant will slips
down 5 meters (61 - 5 = 56 meters).

Remaining pole to climb,

=63 -56

=7

20. A train, 300m long, passed a man, walking along the line in the same direction at the
rate of 3 kmph in 33 seconds. The speed of the train is:

300 Wi ddl T Yamsl Sl fexm A 3 fpfiyfa et St o A agA R aa @ &
fed P 33 Yhs A UR HR T3 | o P 71 B
A. 30 kmph
B. 32 kmph
C. 322 kmph
11
D.35 % kmph
Answer: Option D
Solution:Let the speed of train = x km/ hr
Length of train = 300 metres
Their relative speed in same direction
= (x - 3) km/hr
According to the question,
(300+0) -
m =33
(x—3)x518m/s

[Here man's length is 0 metre]
100Xx18_

5x—15

1800=55x—165
55x=1965
_1965

=~ Speed of the train =%

=35811 kmph

21.Two trains started at the same time, one from A to B and other from B to A. if they
arrived at B and A respectively in 4 hours and 9 hours after they passed each other, the
ratio of the speeds of the two trains was:.

I YENSAl U gl 99a W Y gg, TP A Y B TP SR g1 B ¥ A dF | ¢ 3 -
G Bl UR $R & 91 SHHT: 4 G 3R 9 e H B 3R A W Ugadl €, ot 31t 7Ifa
BT JUTd T2 &t e Y

A2:1

B.3:2

C.4:3

D.5:4

Answer: Option B

Solution: A — —B

Ratio of the speed of trains is given by;
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Speed of train _ VB

ASpeed trainof B VA
V9 _3

4 2

=3:2

22. Two trains of equal length, running in opposite directions, pass a pole in 18 and 12
seconds. The trains will cross each other in:

UM daTs 91 &l Yemisar, fausia fa=ma # aeid §¢, v T &1 18 3R 12 qdbs
# YR Bl €1 39 Uh-goR &1 IR B3

A. 14.4 seconds

B. 15.5 seconds

C. 18.8 seconds

D. 20.2 seconds

Answer: Option A

Solution:Let length of each train be x meter.

Then, speed of 1st train :f—g m/sec

Speed of 2nd train :f—z m/sec Now, When both trains cross each other,
time taken= = 4 =+
18 12

2Xx+3x
2x+3x

36
_72

5
=14.4seconds
23. A train travelling at 48 kmph crosses another train, having half of its length and
travelling in opposite direction at 42 kmph, in 12 seconds. It also passes a railway
platform in 45 seconds. The length of railway platform is:

48 foruit yfer 6¢ 3t 71fay & T arelt v ¢ faudia fa=m & 42 fooeft wfar 9 &t wfa
¥ et daTS arelt gARt S Bl 12 Wb S | UR Bl ¢ | I Th vad WewrH & off
45 A5 S H TR PR SIld] 8| ¥aId WeHTH 3 |als 8-

A. 200m

B. 300m

C. 350m

D. 400m

Answer: Option D

Solution:Let the length of the train traveling at 48 kmph be 2x meters.

And length of the platform is y meters.

Relative speed of train (48+42) kmph

90Xx5
= ::25m/sec

And 48kmph = 4?:5
40

:?m/sec
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According to the question,
2x+x=12.
25 !
Or,3x=12x25
=300 Or,x=">

=100mThen,

length of the train=2x
=100%2

=200m

200+y _45

40/3
600+3y = 40x45
Or,3y=1800-600

=1200 Or y=-->=400m

Length of the platform:400m

24. Two trains 105 meters and 90 meters long, run at the speeds of 45 kmph and 72
kmph respectively, in opposite directions on parallel tracks. The time which they take
to cross each other, is:

105 Htex 3% 90 Hiex w3 Yamieal wamiaR TeRal w fiudta el & wuw:
45 et yfay G2 &R 72 fret Uy 92 Y 1y @ Tl 1 92 U g B UR XA §

7 T 994 §:
A. 8 seconds
B. 6 seconds
C. 7 seconds
D. 5 seconds
Answer: Option B
Solution:Length of the 1st train = 105 m
Length of the 2nd train =90 m
Relative speed of the trains,
=45+ 72 =117 kmph
=117><5
18
= 32.5 m/sec
Time taken to cross each other,
=Length of 1st train+length of 2nd train relative /speed of the trains
~ Time taken =195/32.5
= 6 secs.
26. A train passes two persons walking in the same direction at a speed of 3 kmph and 5
kmph respectively in 10 seconds and 11 seconds respectively. The speed of the train is

TP o guH fezm & 3 fopeft ufa w2 8w 5 fpeit ufa g 1 fay 9 oar 3¢ Y & &
U 10 GBS 3R 11 A5 S W UR Hdl g1 S I 1fd 8

A. 28 kmph

B. 27 kmph
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C. 25 kmph

D. 24 kmph

Answer: Option C

Solution:1st method:

Let the speed of the train be S. And length of the train be x.
When a train crosses a man, its travels its own distance.
According to question; x/ (s—3)x5/18=10

or, 18x=50xs—150.....(1)

and x(x—5)x518=1118x

=55%s—275......(i1)

Equating equation (i) and (ii)
50%xs—150=55%s—2750r,5xs=125 or

s=25kmph

26. A train passes two bridges of length 800 m and 400 m in 100 seconds and 60 seconds
respectively. The length of the train is:

TS ¢+ 800 HIex 3R 400 Hiex wd gl Yal DI HHRM: 100 HHs 3R 60 Hs H UR
A B AP daS @
A. 80m
B. 90m
C. 200m
D. 150m
Answer: Option C
Solution:1st Method:Let length of the train be x m and speed of the train is s kmph.
800 L
Speed, s =Xt (i)
x+400

Speed,s=——.. ... (i)

60
Equating equation (i) and (i), we get,
Or x+800 — x+400
' 100

60
Or, 5x + 200 = 3x + 2400
Or, 2x =400
Or, x =200m
2nd Method:
As in both cases, the speed of the train is constant, and then we have;
Time o distance

202 24800 5y =200M

60  X+400

27. A train travelling with a speed of 60 kmph catches another train travelling in the
same direction and then leaves it 120 m behind in 18 seconds. The speed of the second
train is

60 et ufer 6 ot 7ifar | I areft T o1 I o= & arm &2 61 gt oA &t
THsdl 3 iR R 18 A A 120 e iR i g gaiieawinfa g

A. 26 kmph
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B. 35 kmph

C. 36 kmph

D. 63 kmph

Answer: Option C

Solution: Let speed of the 2nd train is S m/sec.

And,

60 kmph=222= 2m/sec.

As trains are traveling in same distance, Then Relative distance,

—60X5 — 50

18 3
50__ @ —120

3 18

=50 — 35/3=2

=50-3S=20

=3S=50-20

=35=30

~S=10m/sec

Or, Speed of the 2"

Or, Speed of the 2nd train =10x18/5

= 36 kmph.

28. A man goes downstream with a boat to some destination and returns upstream to
his original place in 5 hours. If the speed of the boat in still water and the stream are 10
kmph and 4 kmph respectively, the distance of the destination from the starting place
is:

TS 3MTGH! AT ADY URT & B (bl RIT R AT 8 3R URT & fdpd 5 g o
3T Y& VI R die 3M1a1 8 | afe =i Ut 3R ¥1RT # 919 o1 71fa svw=r: 10 foed
wfd e 3T 4 fortit wfar o2 8, af WRfYe R A Tiaaa &1 gl 8

A. 16 km

B. 18 km

C. 21 km

D. 25 km

Answer: Option C

Solution:Let the distance of the destination from the starting point = x km.

Speed downstream = (10 + 4) = 14 kmph

Speed upstream = (10 - 4) = 6 kmph

According to the question,

Total time taken =5 hours

X X

E+g_

3x+7x
=5or,
42

10x=42x5

42X5
or,x=
10

S0,x=21km
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29. A person can row 7% km an hour in still water. Finds that it takes twice the time to
row upstream than the time to row downstream. The speed of the stream is:

TS At 2rid ur=t § 71/2 foredt wier € &Y nifer & =119 e aarn 81 uran wan %
YRT & Ufapd Ufdd ¥ @ | T4 9T 999 & a1 8 YRT & e d ufed o
T H ST 0T a1 8 | UTRT &1 71 8

A. 2 kmph

B. 2.5 kmph

C. 3 kmph

D. 4 kmph

Answer: Option B

Solution:Let the distance covered be x km and speed of stream =y kmph.

Speed downstream pi> Kmph
2+y
Speed upstream :% kmph

According to question,zx/1_5+y: x/E —yor,
2 2

15-2y=""+y or,

3y=15-2=15/20r,

y=1§:2.5kmph

30. Two boats A and B start towards each other from two places, 108 km apart. Speed
of the boats A and B in still water are 12 km/h and 15 km/h respectively. If A proceeds

down and B up the stream, they will meet after:

&I A1d A 3R B 108 foreft gv &1 ®UTHI I T GO 1 3R T IR Bt ¢ | 2id
U | AT A 3R B D1 Tfd R 12 feefi/der sk 15 fhsider g1 afe A = &t
3R 3R B YRT P FHUR B! 3R I¢dl g, dl 3 39& 916 A

A. 4.5 hours

B. 4 hours

C. 5.4 hours

D. 6 hours

Answer: Option B

Solution:Let the speed of the stream be x kmph and both the boats meet after t hour.
According to the question,

(12+x) xt+(15-x) xt =108

Or, 12t + 15t =108

Or, 27t =108
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